Unit 8 Lesson 3 Notes — The Square Root Function

— 2
We previously studied a quadratic that in its most basic form is N = A

Inverse Operations are operations that R e\ VAL or“_\Ih d 0__” each other.

\

When we studied quadratics previously we learned that to undo squaring (second power) we must SC}\/{Q \c Rovt

Complete the table to help you graph the function y = vx (the Square Root Parent Function).
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y=avx—h+k

Part A: The Effect of 4

1. y=—Vx 2. y=3Vx 3.y=%x/§
What was the transformation? What was the transformation? What was the transformation?
Reficet over X —axis Vertical Stetch by a Verfical Compiession =
- foctrv ot 3 A Focte of V2,
X = in: in:

omain: X 0/{O)cp) Domamxzo/rolco) Domam.XZO/CO)w)
Range:j/_-o/ (—- D, Oj Range: ij ZO/ [-0} @) Range: ﬁi@/[‘olco)
x-intercept: (0 )0) x-intercept: (O ,0) x-intercept: ((0) 0)
y-intercept: (o By, y-intercept:( o )0 y-intercept: (Q )0)

Increasing: N|EvCie

Decreasing: X}.()/ EO/CD)
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Part B: The Effect of C\nomjcs Pomrain
1. y= vx — 4
What was the transformation?

i ght
Domain: X >

X2 /Ty,

Range: j > O/ ['ij)
x-intercept: (Li ) 0)

y-intercept: NN N &

Part C: The Effectof & Clrongts er\c\c,

1. y=vVx—4

What was the transformation?

dowhn 4
Do X 20/ Lo, e0)
Range: & = =1 /C.\_‘,C@
x-intercept: (\\D ,0)

y-intercept: (O) -4 )

Part D: Putting it all together
L.y==Vx+2-3

What was the transformation?
QQ-H cct over X —AX(S
\ctt 2,down 3

Domain:

‘ X2 ~2:f:[=2,3)
Range: j = ~3/ Gooj___g)
x-intercept: None

y-intercept: (O 5 -4.4 \)

2y=+vYx+5

What was the transformation?
et s

Domain: £ 2 "5—/[_-— S;0>

Range: vZO/ L'O}a))

x-intercept: (‘"S 10)

y-intercept: U)/ 2,23)

2.y=+x+5
What was the transformation?
UF 5
Domain: X220 / [O,GD>
. >
Range.(j ,(3—/ ES/GD)
x-intercept: \pyy¢

y-intercept: (O )5 )

3.y=2Vx+3

What was the transformati

n?
VC\\Z\};((L\ $’\’\rcfc\nﬁ\7‘1 a Tactv ot 2
it 3
Domain: X = -3 /r~3)co)
Range: \(jio / CO,®>

x-intercept: L- 3,0)

y-intercept: ( 0,3.464)

Examples: Describe the transformations from the parent graphof y = Vx.

a. y=Vvx+2-4
LCHZ,O\OV\\n‘f

b. y= 3Wx—5+2
Vourtlcal Shetth
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Pigu+s) up2

¢ y=—>Vx+3 |
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